
Assembly Instructions & User Guide



P1

Important Safety Instructions



min

Installation 
Time

Installation
Personnel

Installation Tools 
(Not Included)

Parts Quantity Parts Quantity

M6*1*10 Machine Screw

M6*1*14 Machine Screw

Cable Cover

ST5*0.8*16 Wood Screw

PARTS LIST

P2

1921
17

16

1

2

3a

3b

4

5

10

136

7

4mm Allen WrenchPower Cord8 Cable9 Cable Clip14

11
12

18a

18b
18c

15

23

22

20

Lifting Column

Foot

Frame End-CB

Frame End

Center Rail

Side Bracket

Control Box

Handset

Power Cord

Cable

a

b

16

19

a

b

c

23

Cable Clip

Grommet

Cam Lock Screws & Nuts

Wood Pin

Desktop Board 1

Desktop Board 2

Desktop Board 3

Panel

Support Bracket

Clamp Bracket

M6*1*15 Machine Screw

M6*1*11 Machine Screw



Package Contents

Screw List

Control Box Handset

P3

Lifting Column1 2 Foot 3a Frame End-CB 3b Frame End

Center Rail4 Cable Cover12 Side Bracket5

6 7 8 9 14

Desktop Board 1
Desktop Board 218b

Desktop Board 318c18a

Wood Pin17 Cam Lock Screws 
& Nuts

16

Panel19

Support 
Bracket

20

Clamp Bracket21

Cable Clip

4mm Allen Wrench

CablePower Cord

ST5*0.8*16  M6*1*14 M6*1*10 13 11 10

X2 X19 X16

M6*1*15 22

X4

M6*1*11 23

X4



ASSEMBLY

P4

 1

 2

 3

 4



P5

 5

17

16

18a

17

16
18b

18c

Place Desktop Board 1 (part 18a), Desktop Board 2 (part 18b) and Desktop Board 3 (part 18c) on a 

smooth surface with pre-drilled holes facing upward. As the figure shown above, insert eight (8) 

(8 in total) Cam Lock Screws (part 16) into two sides of the Desktop Board 2 (part 18b), followed by 

eight (8) (8 in total) Cam Lock Nuts (part 16). Use a Philips screwdriver to rotate Cam Lock Nuts 90 

degrees clockwise to tighten the corresponding Cam lock Screw. Insert Wood Pins (part 17) (4 in total) 

into the remaining holes on Desktop Board 2 (part 18b). Line up the holes and pins on Desktop Board 1 

and Desktop Board 2(part 18a & part 18b). Join two (2) desktop boards tightly. Line up the holes and 

pins on Desktop Board 2 and Desktop Board 3(part 18b & part 18c). Join two (2) desktop boards tightly.

 6

 7

We recommend that you choose a flat and smooth 
floor or use a soft mat while assembling to prevent 
injury or scratches to the desktop and the table frame.

ASSEMBLY



P6

11

11

6
If use Maidesite embeded screw desktop, need

 8

Machine Screws (part 11 ).

M6x14

ST5x16 

 9

12

10

Put the Cable Cover(part 12) into the frame, fixed them with eight 

M6x10 Machine Screws(part 10).

 10

ASSEMBLY



P7

19 21 20

23

22

ASSEMBLY

 11

You should be able to spot the pre-cut holes near the bottom of the Panel (part 19). Line up the holes on 

the long end of the Support Bracket (part 20) with the holes on the panel. The right angle of the Support 

Bracket (part 20) should point towards the floor as shown. From the other side, line the Clamp Bracket 

(part 21) up with the holes. Insert four (4) M6x11 Machine Screws (part 23) (4 in total) and tighten until 

snug. Do not over tighten. Line up the holes on the short end of the Support Bracket (part 20) with the 

holes on the desktop board. Insert four (4) M6x15 Machine Screws (part 22) (4 in total) and tighten 

them all.

15

Insert the Grommet (part 15) into the desktop.

 12



P8



P9



P10



P11

Abnormal Operation


